

لوسا

$$1 \cos u - \tan u = 1 \quad \frac{1 + \tan u}{\cos u} = \frac{1}{\cos u} \rightarrow \tan u = \frac{1}{\cos u} - 1 \rightarrow 1 \cos u - \left(\frac{1}{\cos u} - 1 \right) = 1 \rightarrow -1$$

[0, \pi]

$$\rightarrow 1 \cos u - \frac{1}{\cos u} = 0 \rightarrow 1 \cos^2 u - 1 = 0 \rightarrow \cos^2 u = \frac{1}{1} \rightarrow \cos u = \frac{1}{1}$$

$$u = \frac{\pi}{1}, \frac{\omega \pi}{1} \rightarrow \text{لوسا}$$


-1

[-\pi, \pi]

$$\omega \sin^2(u) + \nu \cos(\pi u) = -1$$

$$\omega \sin^2 u = \omega(1 - \cos^2 u), \nu \cos^2 u = \nu(\cos^2 u - \cos u) = 1 \cos^2 u - 4 \cos u$$

$$\omega - \omega \cos^2 u + 1 \cos^2 u - 4 \cos u = -1 \rightarrow 1 \cos^2 u - \omega \cos^2 u - 4 \cos u + 1 = 0$$

لوسا

$$\rightarrow (\cos u + 1)(1 \cos^2 u - 1 \cos u + 1) \rightarrow \cos u = -1 \rightarrow u = \pi, -\pi \rightarrow \text{لوسا}$$

\Delta C = 0

$$\nu \sin(u) \cos(\pi u) + \sin(u) = 1$$

$$\nu \sin u (1 - \nu \sin^2 u) + \sin u = 1 \rightarrow \nu \sin u - \nu^2 \sin^3 u + \sin u = 1 \rightarrow \frac{\nu \sin u - \nu^2 \sin^3 u}{\sin^2 u} = 1 \rightarrow$$

$$\rightarrow \sin^2 u = 1 \rightarrow \pi u = \frac{\pi}{1} + \frac{\pi}{1} \rightarrow u = \frac{\pi}{1} + \frac{\pi}{1}$$

$\begin{aligned} k=0 & \rightarrow \frac{\pi}{4} \\ k=1 & \rightarrow \frac{\pi}{1} + \frac{\pi}{4} = \frac{\omega \pi}{4} \\ k=2 & \rightarrow \frac{2\pi}{1} + \frac{\pi}{4} = \frac{2\pi}{1} \end{aligned}$	$\rightarrow \frac{\pi}{4} + \frac{\omega \pi}{4} + \frac{\pi}{1} = \frac{\omega \pi}{1}$	$\frac{\omega \pi}{1}$
--	---	------------------------

$$\frac{1}{\sin(\frac{\pi}{1} + \pi u)} + \frac{1}{\cos(\frac{\pi}{1} + \pi u)} = 0 \rightarrow \begin{cases} \sin(\frac{\pi}{1} + \pi u) = \cos \pi u \\ \cos(\frac{\pi}{1} + \pi u) = -\sin \pi u \end{cases} \rightarrow \frac{1}{\cos \pi u} - \frac{1}{\sin \pi u} = 0 \rightarrow$$

-1

$$\rightarrow \frac{1}{\cos \pi u} = \frac{1}{\sin \pi u} \rightarrow \sin \pi u = \cos \pi u \rightarrow \nu \sin \pi u \cos \pi u = \cos \pi u \rightarrow \nu \sin \pi u \cos \pi u - \cos \pi u = 0 \rightarrow$$

$$\rightarrow \cos \pi u (\nu \sin \pi u - 1) = 0 \rightarrow \begin{cases} \cos \pi u = 0 \rightarrow \text{لوسا} \\ \sin \pi u = \frac{1}{\nu} \end{cases}$$

$$\begin{cases} \nu u = \frac{\pi}{4} \rightarrow u = \frac{\pi}{1\nu} \\ \pi u = \frac{\omega \pi}{4} \rightarrow u = \frac{\omega \pi}{1\nu} \end{cases} \rightarrow \alpha = \frac{\omega \pi}{1\nu} - \frac{\pi}{1\nu} = \frac{\pi}{1\nu}$$

$$\tan \nu \left(\frac{\pi}{1\nu} \right) = \tan \frac{\pi \nu}{1\nu} = -\frac{\frac{\sqrt{1\nu}}{1\nu}}{\frac{1}{1\nu}} = -\sqrt{1\nu}$$

$$m(\cos m - \sin m) - \sqrt{4} \sin(\pi m) = \sqrt{4} \quad , \text{ if } \cos(u + \frac{\pi}{\varepsilon}) = \frac{1}{\sqrt{4}} \quad m=?$$

$$\cos(u + \frac{\pi}{\varepsilon}) = \frac{1}{\sqrt{4}} \rightarrow \frac{1}{\sqrt{4}} (\cos m - \sin m) = \frac{1}{\sqrt{4}} \rightarrow \cos m - \sin m = \frac{1}{\sqrt{4}}$$

$$(\cos m - \sin m) \sqrt{4} = \frac{1}{\sqrt{4}} \rightarrow 1 - \sin m \cos m = \frac{1}{\sqrt{4}} \rightarrow 1 - \sin m = \frac{1}{\sqrt{4}} \rightarrow \sin m = \frac{1}{\sqrt{4}}$$

$$\sqrt{\frac{1}{4}} m - \frac{\sqrt{4}}{\sqrt{4}} = \sqrt{4} \rightarrow \sqrt{\frac{1}{4}} m = \sqrt{4} \rightarrow \frac{\sqrt{1}}{\sqrt{4}} m = \sqrt{4} \rightarrow m = 4$$

$$\sin(m + \frac{\pi}{4}) \cos(m - \frac{\pi}{4}) = 1 \rightarrow m + \frac{\pi}{4} + \frac{\pi}{4} - m = \frac{\pi}{4} \rightarrow \sin \alpha = \cos \beta \rightarrow \sin \alpha = \cos \beta \quad -4$$

$$\rightarrow \sin(m + \frac{\pi}{4}) = \cos(m - \frac{\pi}{4}) \rightarrow \cos^2(m - \frac{\pi}{4}) = 1 \rightarrow \cos(m - \frac{\pi}{4}) = \pm 1$$

$$\begin{aligned} \rightarrow \cos(m - \frac{\pi}{4}) = 1 &\rightarrow m - \frac{\pi}{4} = 2k\pi \rightarrow m = 2k\pi + \frac{\pi}{4} \xrightarrow{k=0} \left(\frac{\pi}{4}\right) \\ \rightarrow \cos(m - \frac{\pi}{4}) = -1 &\rightarrow m - \frac{\pi}{4} = 2k\pi + \pi \rightarrow m = 2k\pi + \frac{5\pi}{4} \xrightarrow{k=0} \left(\frac{5\pi}{4}\right) \end{aligned}$$

$$\sin m + \sqrt{4} \cos m = \sqrt{4} \xrightarrow{\div \sqrt{4}} \frac{1}{\sqrt{4}} \sin m + \frac{\sqrt{4}}{\sqrt{4}} \cos m = \frac{\sqrt{4}}{\sqrt{4}} \rightarrow \cos \frac{\pi}{4} \sin m + \sin \frac{\pi}{4} \cos m = \frac{\sqrt{4}}{\sqrt{4}} \rightarrow -1$$

$$\rightarrow \sin(m + \frac{\pi}{4}) = \sin \frac{\pi}{4} \rightarrow m + \frac{\pi}{4} = 2k\pi + \frac{\pi}{4} \rightarrow m = 2k\pi \xrightarrow{k=1} \left(\frac{2\pi}{1}\right)$$

$$-\frac{\pi}{4} + \frac{2\pi}{1} + \frac{\pi}{4} = \frac{2\pi}{1} = \left(\frac{2\pi}{1}\right) \rightarrow \text{جواب}$$

$$\sin m \sin\left(\frac{\pi}{4} - m\right) = 1 \rightarrow -\sin m \cos m = 1 \rightarrow \sin m \cos m = -\frac{1}{2} \rightarrow \frac{1}{2} \sin 2m = -\frac{1}{2} \rightarrow -1$$

$$\rightarrow \sin 2m = -\frac{1}{2} \rightarrow \begin{aligned} 2m &= 2k\pi - \frac{\pi}{6} \rightarrow m = k\pi - \frac{\pi}{12} \xrightarrow{k=1} \left(\frac{11\pi}{12}\right) \\ 2m &= 2k\pi + \frac{5\pi}{6} \rightarrow m = k\pi + \frac{5\pi}{12} \xrightarrow{k=1} \left(\frac{17\pi}{12}\right) \end{aligned}$$

$$\frac{11\pi}{12} + \frac{17\pi}{12} + \frac{\pi}{4} + \frac{19\pi}{12} = \frac{49\pi}{12}$$

$$\frac{(1 + \cos(2\alpha))}{2\cos^2\alpha} \frac{(1 + \cos(2\epsilon\alpha))}{2\cos^2\epsilon\alpha} \frac{(1 + \cos(2\lambda\alpha))}{2\cos^2\lambda\alpha} = \frac{1}{\lambda}$$

-9

$$\lambda \cos^2\alpha \cos^2\epsilon\alpha \cos^2\lambda\alpha = \frac{1}{\lambda} \rightarrow \cos\alpha \cos\epsilon\alpha \cos\lambda\alpha = \pm \frac{1}{\lambda} \xrightarrow[\text{مساوی می باشد}]{\sin\alpha \neq 0} \frac{\lambda \sin\epsilon\alpha}{\lambda \sin\alpha \cos\alpha \cos\epsilon\alpha \cos\lambda\alpha} = \pm \frac{\sin\alpha}{\sin\lambda\alpha}$$

$$\rightarrow \sin\lambda\alpha = \pm \sin\alpha$$

ک. را از این شرایط (مع) که جواب برابر باشد
نمودار چون $\sin\alpha \neq 0$ است

$$\left\{ \begin{array}{l} \alpha = \frac{2k\pi}{\lambda} \xrightarrow{k=2} \frac{4\pi}{\lambda} \\ \alpha = \frac{2k\pi}{\epsilon} \xrightarrow{k=2} \frac{4\pi}{\epsilon} \\ \alpha = \frac{2k\pi}{\lambda} + \frac{\pi}{\epsilon} \xrightarrow{k=2} \frac{4\pi}{\lambda} \\ \alpha = \frac{2k\pi}{\epsilon} + \frac{\pi}{\lambda} \xrightarrow{k=2} \frac{4\pi}{\epsilon} \end{array} \right.$$

$$\rightarrow \max = \frac{\lambda\pi}{9}$$

$$\tan(\mu_n) \tan(\alpha_n) = 1 \rightarrow \tan \mu_n = \frac{1}{\tan \alpha_n} \rightarrow \tan \mu_n = \cot \alpha_n \rightarrow \tan \mu_n = \tan\left(\frac{\pi}{2} - \alpha_n\right) \rightarrow$$

$$\rightarrow \mu_n = k\pi + \frac{\pi}{2} - \alpha_n \rightarrow \alpha_n = \frac{k\pi}{2} + \frac{\pi}{2}$$

$$\left\{ \begin{array}{l} k=6 \rightarrow \frac{9\pi}{\lambda} \\ k=7 \rightarrow \frac{11\pi}{\lambda} \\ k=8 \rightarrow \frac{13\pi}{\lambda} \\ k=9 \rightarrow \frac{15\pi}{\lambda} \end{array} \right.$$

$$\frac{9\pi}{\lambda} + \frac{11\pi}{\lambda} + \frac{13\pi}{\lambda} + \frac{15\pi}{\lambda} = 4\pi$$